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PATTERN INFO
Dimensions 114 Columns x 102 Rows

Min Finished size 5.81 x 6.43 inches  
14.82 x 16.32 cm 

Colors used 4

Beads in Tapestry 11,628



 Bead Legend
The colors used in the pattern are listed below as well as their associated symbols.  

You will also find that the number of beads per color as well as grams per color is listed as well.  

The colors have been carefully selected, should you desire to change a color for any reason, please contact 
nedal@beadingtreasures.com and we will be glad to help. 

16.55
35.53
5.51
7.02

mailto:Nedal@beadingtreasures.com


Labels for Bead Symbols Labels for Bead Colors

Simply cut out the Bead Symbols and use them to name your bead colors on your beading mat or tray. 
Cut out the Bead Color labels and use them on your baggies or bead tubes. 
Use clear or invisible tape to fix them in place.



Page Map

LOOM PAGE MAP:   
BOTTOM UP, LEFT TO RIGHT

B:1  
Page 1

B:2  
Page 2

A:1  
Page 3

A:2  
Page 4

Page 1 Page 2

Page 3 Page 4

PEYOTE PAGE MAP:   
TOP TO BOTTOM, LEFT TO RIGHT

More information about the Page Map can be found in the Info Planner in your Pattern Package.
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Rows 1&2 (L): 114(D)

Row 3 (R): 13(D),1(C), 1(B), 4(A), 1(B), 17(D), 1(C), 1(B), 3(A), 1(B), 1(C), 13(D)

Row 4 (L): 13(D), 1(C), 1(B), 4(A), 1(B), 17(D), 1(C), 1(B), 3(A), 1(B), 1(C), 13(D)

Row 5 (R): 12(D),1(B), 8(A), 1(B), 13(D), 1(C), 9(A), 1(C), 11(D)

Row 6 (L): 12(D), 1(B), 8(A), 1(B), 13(D), 1(C), 9(A), 1(C), 11(D)

Row 7 (R): 10(D),1(C), 3(A), 1(C), 3(D), 1(C), 1(B), 3(A), 11(D), 1(B), 2(A), 1(B), 1(C), 3(D), 
1(C), 1(B), 3(A), 10(D)

Row 8 (L): 10(D), 1(C), 3(A), 2(C), 2(D), 1(C), 1(B), 3(A), 11(D), 1(B), 2(A), 1(B), 1(C), 3(D), 
1(C), 1(B), 2(A), 1(B), 10(D)

Row 9 (R): 9(D),1(C), 2(A), 2(C), 1(B), 3(A), 1(C), 2(D), 1(B), 2(A), 9(D), 1(B), 2(A), 1(C), 1(D), 
1(C), 4(B), 1(C), 1(D), 1(B), 2(A), 9(D)

Row 10 (L): 9(D), 1(C), 2(A), 2(D), 1(C), 3(B), 1(C), 2(D), 1(B), 2(A), 9(D), 1(B), 2(A), 1(C), 1(D), 
1(C), 1(B), 2(A), 1(B), 1(C), 1(D), 1(B), 2(A), 9(D)

Row 11 (R): 8(D),1(C), 3(A), 1(B), 7(A), 1(C), 1(D), 1(C), 2(A), 7(D), 1(C), 2(A), 2(D), 1(B), 6(A), 
1(B), 1(D), 1(C), 2(A), 8(D)

Row 12 (L): 8(D), 1(C), 2(A), 1(D), 1(C), 7(A), 1(C), 1(D), 1(C), 2(A), 7(D), 1(C), 2(A), 2(D), 
1(B), 7(A), 1(C), 3(A), 8(D)

Row 13 (R): 8(D),2(A), 1(D), 2(B), 4(D), 1(C), 3(A), 1(B), 1(D), 1(C), 2(A), 6(D), 2(A), 1(D), 1(C), 
1(A), 1(B), 1(A), 1(B), 1(C), 3(D), 1(C), 1(A), 1(D), 1(C), 1(A), 1(B), 7(D)

Row 14 (L): 8(D), 2(A), 1(D), 2(B), 1(C), 3(D), 1(C), 3(A), 1(B), 1(D), 1(C), 2(A), 6(D), 2(A), 1(D), 
1(C), 4(A), 1(C), 3(D), 1(C), 1(A), 2(C), 1(A), 1(B), 7(D)

Row 15 (R): 7(D),2(A), 1(D), 1(B), 1(C), 6(D), 1(C), 1(A), 1(C), 2(B), 1(D), 1(B), 1(A), 1(C), 4(D), 
2(A), 1(D), 1(C), 1(A), 1(C), 2(A), 7(D), 1(A), 1(D), 1(B), 1(A), 1(C), 6(D)

Row 16 (L): 7(D), 2(A), 1(D), 1(B), 1(C), 6(D), 1(C), 1(A), 1(C), 2(B), 1(D), 1(B), 1(A), 1(C), 4(D), 
2(A), 1(D), 1(C), 1(A), 1(C), 2(A), 7(D), 1(B), 1(D), 1(B), 1(A), 1(C), 6(D)

Row 17 (R): 6(D),1(C), 1(A), 1(C), 1(B), 1(C), 5(D), 1(C), 2(D), 2(A), 1(D), 2(B), 1(D), 2(A), 3(D), 
1(C), 1(A), 1(C), 1(D), 1(A), 2(C), 1(A), 3(D), 1(C), 5(D), 1(B), 1(D), 2(A), 6(D)

Row 18 (L): 6(D), 1(C), 1(A), 1(C), 1(B), 1(C), 5(D), 1(C), 2(D), 1(B), 1(A), 1(D), 1(A), 1(C), 
1(D), 2(A), 3(D), 1(C), 1(A), 1(C), 1(D), 1(A), 2(C), 1(A), 2(D), 2(C), 5(D), 1(B), 1(D), 2(A), 6(D)

Row 19 (R): 6(D),1(A), 1(B), 1(D), 1(B), 5(D), 3(A), 2(D), 1(A), 2(D), 1(A), 1(D), 1(C), 1(A), 1(C), 
2(D), 2(A), 1(D), 1(A), 1(C), 1(D), 2(A), 2(D), 2(A), 1(B), 5(D), 1(B), 1(D), 1(A), 1(C), 5(D)



Row 20 (L): 6(D), 2(A), 1(D), 1(B), 5(D), 2(A), 1(B), 2(D), 1(A), 2(D), 1(A), 1(D), 1(C), 1(A), 1(C), 
2(D), 2(A), 1(D), 1(A), 1(C), 1(D), 2(A), 1(D), 1(C), 2(A), 1(B), 5(D), 1(B), 1(D), 1(A), 1(B), 5(D)

Row 21 (R): 5(D),1(B), 1(A), 1(D), 3(B), 3(D), 4(A), 1(C), 1(D), 1(A), 1(C), 2(D), 1(A), 1(D), 2(A), 
1(D), 1(C), 1(A), 1(D), 1(C), 1(A), 2(D), 1(A), 1(C), 1(D), 4(A), 3(D), 3(B), 1(D), 1(B), 1(A), 5(D)

Row 22 (L): 5(D), 1(C), 1(A), 1(D), 3(B), 1(C), 2(D), 4(A), 2(D), 1(A), 1(C), 1(D), 1(C), 1(A), 
1(D), 2(A), 1(D), 1(C), 1(A), 2(C), 1(A), 2(D), 1(A), 1(C), 1(D), 4(A), 3(D), 1(C), 2(B), 1(D), 1(B), 
1(A), 5(D)

Row 23 (R): 5(D),1(A), 2(B), 4(A), 2(D), 2(A), 1(D), 1(C), 1(B), 1(D), 1(A), 1(B), 2(D), 1(B), 2(C), 
1(A), 1(D), 2(A), 1(D), 1(A), 3(D), 1(A), 2(D), 1(A), 1(C), 2(A), 1(C), 1(D), 1(B), 3(A), 1(B), 1(D), 
1(A), 1(C), 4(D)

Row 24 (L): 5(D), 1(A), 2(B), 4(A), 2(D), 2(A), 1(C), 1(A), 1(C), 1(D), 1(A), 1(B), 2(D), 1(B), 1(C), 
1(D), 1(A), 1(D), 2(A), 1(D), 1(A), 3(D), 1(A), 2(D), 1(A), 1(D), 1(C), 1(A), 1(B), 1(D), 1(C), 3(A), 
1(B), 1(D), 1(A), 1(B), 4(D)

Row 25 (R): 4(D),1(C), 1(A), 1(D), 1(B), 4(A), 1(B), 1(D), 1(A), 1(B), 2(D), 1(C), 1(D), 1(A), 1(B), 
3(D), 1(A), 1(D), 3(A), 2(C), 1(B), 3(D), 1(A), 2(D), 1(A), 2(D), 2(A), 1(D), 5(A), 1(B), 2(A), 4(D)

Row 26 (L): 4(D), 1(C), 1(A), 1(D), 1(B), 5(A), 1(D), 2(A), 2(D), 1(C), 1(D), 1(A), 1(B), 3(D), 1(A), 
1(D), 3(A), 2(C), 1(B), 3(D), 1(A), 2(D), 1(A), 2(D), 2(A), 1(D), 5(A), 1(B), 2(A), 4(D)

Row 27 (R): 4(D),2(A), 1(B), 2(A), 2(B), 2(A), 1(D), 1(A), 1(C), 4(D), 1(A), 1(B), 3(D), 1(B), 1(C), 
1(B), 2(A), 1(D), 1(A), 4(D), 1(A), 2(D), 1(A), 2(D), 2(A), 1(C), 2(A), 1(B), 2(A), 1(B), 1(C), 1(A), 
1(C), 3(D)

Row 28 (L): 4(D), 2(A), 1(B), 2(A), 2(B), 2(A), 1(D), 1(A), 1(B), 2(D), 1(C), 1(D), 1(A), 1(B), 3(D), 
1(B), 2(C), 2(A), 1(D), 1(A), 4(D), 1(A), 1(C), 1(D), 1(A), 2(D), 2(A), 1(C), 2(A), 1(B), 2(A), 1(B), 
1(D), 1(A), 1(C), 3(D)

Row 29 (R): 4(D),1(A), 1(C), 1(B), 2(A), 2(D), 2(A), 1(C), 1(A), 1(C), 1(D), 1(C), 2(D), 1(A), 3(C), 
2(D), 1(A), 1(D), 2(A), 1(D), 1(A), 2(D), 1(C), 1(D), 1(A), 1(C), 1(D), 2(C), 1(D), 4(A), 2(D), 1(C), 
2(A), 1(B), 2(A), 3(D)

Row 30 (L): 4(D), 1(A), 1(C), 1(B), 2(A), 2(D), 1(B), 1(A), 1(D), 1(A), 1(B), 1(D), 1(C), 2(D), 1(A), 
1(B), 2(C), 2(D), 1(A), 1(D), 2(A), 1(D), 1(A), 2(D), 1(C), 1(D), 1(A), 1(C), 4(D), 2(A), 1(B), 1(A), 
3(D), 2(A), 1(B), 2(A), 3(D)

Row 31 (R): 3(D),1(B), 1(A), 2(B), 1(A), 4(D), 1(A), 1(D), 2(A), 3(D), 1(C), 1(A), 1(C), 2(A), 1(C), 
1(D), 1(A), 1(D), 1(A), 1(C), 1(A), 2(D), 5(A), 4(D), 4(A), 3(D), 2(A), 1(B), 2(A), 3(D)

Row 32 (L): 3(D), 1(B), 1(A), 1(C), 1(B), 1(A), 4(D), 1(A), 1(D), 2(A), 4(D), 1(A), 1(C), 2(A), 1(C), 
1(D), 1(A), 1(D), 1(A), 1(C), 1(A), 2(D), 5(A), 4(D), 2(A), 1(B), 1(A), 3(D), 2(A), 1(B), 1(C), 1(A), 
3(D)

Row 33 (R): 3(D),2(A), 2(B), 1(A), 4(D), 1(A), 1(D), 2(A), 3(D), 6(A), 1(D), 2(C), 1(A), 1(D), 1(A), 
1(D), 1(B), 3(A), 1(B), 1(A), 1(C), 2(D), 1(B), 1(A), 1(C), 2(B), 3(D), 1(B), 1(A), 1(D), 1(C), 1(A), 
1(C), 2(D)



Row 34 (L): 3(D), 2(A), 1(B), 2(A), 4(D), 1(A), 1(D), 2(A), 3(D), 6(A), 1(D), 2(C), 1(B), 1(D), 1(A), 
1(D), 1(C), 3(A), 1(B), 1(A), 1(C), 2(D), 1(B), 1(A), 3(B), 3(D), 1(B), 1(A), 1(D), 1(C), 1(A), 1(C), 
2(D)

Row 35 (R): 3(D),1(A), 3(B), 1(A), 1(D), 1(C), 2(D), 1(A), 1(D), 3(A), 1(B), 2(A), 1(B), 4(A), 1(C), 
1(D), 1(A), 1(C), 1(D), 1(B), 1(D), 7(A), 1(C), 1(B), 2(A), 1(D), 1(C), 1(B), 1(D), 1(C), 1(D), 1(C), 
1(A), 1(D), 1(C), 2(A), 2(D)

Row 36 (L): 3(D), 1(A), 2(B), 2(A), 4(D), 1(A), 1(D), 1(B), 2(A), 1(C), 1(B), 1(A), 1(C), 4(A), 1(C), 
1(D), 1(A), 1(C), 1(D), 1(B), 1(D), 4(A), 1(B), 2(A), 2(B), 2(A), 1(D), 1(C), 1(A), 1(D), 1(C), 1(D), 
1(C), 1(A), 1(D), 1(C), 2(A), 2(D)

Row 37 (R): 2(D),1(C), 1(A), 1(C), 1(D), 1(B), 1(A), 3(D), 1(C), 1(B), 2(D), 5(A), 3(D), 1(C), 1(B), 
1(A), 1(D), 1(A), 1(D), 1(B), 1(D), 1(C), 1(B), 1(C), 3(D), 1(C), 4(A), 1(C), 2(D), 1(A), 2(B), 1(D), 
1(C), 1(A), 1(D), 1(C), 2(A), 2(D)

Row 38 (L): 2(D), 1(C), 1(A), 1(C), 1(B), 2(A), 2(D), 3(B), 2(D), 5(A), 3(D), 1(C), 1(B), 1(A), 1(D), 
1(A), 1(D), 1(B), 1(D), 1(C), 1(A), 1(C), 2(D), 2(C), 4(A), 1(B), 2(D), 1(A), 1(D), 1(B), 1(D), 1(B), 
1(A), 1(D), 1(B), 2(A), 2(D)

Row 39 (R): 2(D),1(B), 1(A), 1(C), 1(D), 1(C), 1(A), 2(D), 2(A), 4(D), 2(B), 1(C), 1(D), 1(C), 1(B), 
2(C), 1(D), 1(C), 1(D), 1(B), 1(D), 1(A), 1(D), 1(B), 3(D), 1(C), 2(D), 1(C), 2(A), 1(C), 3(D), 1(C), 
1(B), 2(D), 1(B), 1(A), 1(D), 1(B), 2(A), 2(D)

Row 40 (L): 2(D), 1(B), 1(A), 1(C), 1(D), 1(B), 1(A), 2(D), 2(B), 4(D), 1(B), 1(A), 1(B), 2(D), 2(C), 
2(D), 1(C), 1(D), 1(B), 1(D), 1(A), 1(D), 1(B), 2(D), 1(C), 2(B), 1(C), 1(D), 2(B), 1(C), 3(D), 1(C), 
1(A), 1(C), 1(D), 1(B), 1(A), 1(D), 1(B), 2(A), 2(D)

Row 41 (R): 2(D),2(A), 1(C), 1(D), 1(C), 1(A), 1(C), 9(D), 1(C), 5(A), 1(B), 2(D), 1(C), 1(B), 1(A), 
2(D), 2(B), 3(A), 1(B), 11(D), 2(A), 1(D), 2(B), 1(A), 2(D)

Row 42 (L): 2(D), 2(A), 1(C), 1(D), 1(C), 1(A), 1(C), 10(D), 1(C), 4(A), 1(B), 3(D), 1(B), 1(A), 
2(D), 1(C), 6(A), 1(C), 1(D), 1(C), 4(D), 1(B), 2(D), 2(A), 1(D), 2(B), 1(A), 2(D)

Row 43 (R): 2(D),2(A), 1(B), 2(D), 2(A), 5(D), 1(C), 1(B), 1(D), 5(A), 3(B), 1(A), 2(D), 1(A), 1(B), 
1(D), 1(B), 2(C), 1(D), 1(C), 3(A), 1(D), 1(C), 1(D), 2(C), 4(D), 1(C), 2(A), 1(D), 1(B), 1(C), 1(A), 
1(C), 1(D)

Row 44 (L): 2(D), 2(A), 1(C), 2(D), 2(A), 5(D), 1(C), 3(D), 1(B), 2(A), 1(B), 1(C), 1(D), 1(C), 1(B), 
2(D), 1(A), 1(B), 1(D), 1(B), 1(A), 3(B), 4(A), 1(C), 1(D), 1(A), 1(C), 4(D), 1(C), 1(A), 1(B), 2(D), 
1(C), 1(A), 1(C), 1(D)

Row 45 (R): 2(D),2(A), 1(B), 2(D), 2(A), 1(B), 2(D), 1(C), 1(A), 1(B), 1(D), 3(A), 1(C), 6(D), 1(C), 
1(D), 1(A), 1(C), 7(D), 3(A), 1(D), 1(B), 1(D), 2(B), 1(C), 1(D), 1(C), 2(A), 1(C), 2(D), 1(C), 1(A), 
1(B), 1(D)

Row 46 (L): 2(D), 2(A), 1(B), 2(D), 3(A), 1(C), 1(D), 1(C), 1(A), 1(D), 1(C), 1(B), 1(C), 2(A), 1(C), 
5(D), 1(C), 1(D), 1(A), 1(C), 1(D), 1(C), 6(D), 1(B), 2(A), 1(C), 1(D), 1(A), 1(B), 1(C), 1(D), 1(C), 
2(A), 3(D), 1(C), 1(A), 1(B), 1(D)



Row 47 (R): 2(D),2(A), 1(B), 2(D), 1(C), 5(A), 1(B), 1(D), 1(C), 1(A), 1(C), 14(D), 4(B), 2(D), 
2(A), 3(B), 1(D), 1(B), 5(A), 3(D), 1(C), 2(A), 1(D)

Row 48 (L): 2(D), 2(A), 1(B), 2(D), 1(C), 5(A), 2(D), 1(A), 1(D), 3(A), 2(D), 3(B), 15(D), 1(C), 
1(A), 2(D), 6(A), 3(D), 1(C), 2(A), 1(D)

Row 49 (R): 1(D),1(C), 1(A), 1(C), 1(B), 2(D), 9(B), 1(C), 1(B), 2(A), 1(B), 1(D), 8(B), 1(D), 2(B), 
2(A), 2(B), 1(D), 1(B), 2(A), 1(D), 1(A), 1(D), 1(C), 4(B), 1(C), 3(D), 1(C), 2(A), 1(D)

Row 50 (L): 1(D), 1(C), 2(A), 1(B), 2(D), 1(C), 5(B), 1(C), 1(A), 2(B), 2(A), 2(D), 1(B), 3(A), 1(B), 
1(D), 1(C), 8(B), 1(C), 3(A), 1(B), 1(C), 8(B), 1(C), 2(D), 1(B), 2(A), 1(D)

Row 51 (R): 1(D),1(C), 1(A), 1(C), 3(D), 8(A), 1(B), 1(C), 1(B), 3(A), 1(D), 6(A), 1(B), 2(C), 1(B), 
4(A), 1(B), 1(C), 1(D), 2(A), 3(B), 1(C), 1(B), 3(A), 1(B), 3(D), 1(C), 2(A), 1(D)

Row 52 (L): 1(D), 1(C), 1(A), 2(B), 3(D), 1(C), 3(A), 1(B), 1(D), 1(A), 1(D), 2(A), 1(C), 1(D), 2(B), 
4(A), 1(B), 1(D), 1(B), 7(A), 1(B), 3(A), 1(B), 1(C), 8(A), 1(B), 2(D), 1(B), 2(A), 1(D)

Row 53 (R): 1(D),1(B), 1(A), 1(C), 3(D), 8(A), 1(B), 1(C), 1(B), 1(A), 2(C), 1(D), 1(A), 1(D), 1(C), 
3(A), 1(B), 1(D), 1(B), 1(A), 1(B), 2(C), 2(A), 1(B), 1(D), 1(C), 2(A), 1(D), 1(A), 1(D), 1(B), 2(A), 
1(C), 4(D), 1(C), 2(A), 1(D)

Row 54 (L): 1(D), 1(B), 1(A), 1(C), 1(B), 2(D), 1(C), 1(B), 2(A), 2(B), 1(D), 1(A), 1(B), 2(A), 1(D), 
1(C), 1(B), 1(A), 1(B), 2(C), 1(A), 1(B), 2(C), 1(B), 3(A), 1(D), 1(B), 2(A), 1(D), 2(A), 1(B), 1(C), 
8(A), 1(B), 2(D), 1(B), 2(A), 1(D)

Row 55 (R): 1(D),1(B), 1(A), 1(C), 1(D), 1(B), 1(D), 2(A), 1(C), 2(D), 1(B), 2(A), 1(B), 1(D), 1(B), 
1(A), 2(D), 1(C), 1(A), 2(D), 3(A), 1(B), 1(C), 1(B), 1(A), 1(B), 1(D), 1(C), 1(B), 1(A), 1(B), 2(D), 
2(A), 1(C), 1(A), 1(D), 1(B), 2(A), 1(B), 1(D), 1(B), 2(D), 1(B), 2(A), 1(D)

Row 56 (L): 1(D), 1(B), 1(A), 1(C), 3(D), 1(B), 1(C), 1(B), 1(A), 1(B), 1(D), 2(C), 2(A), 1(C), 1(D), 
1(B), 2(A), 1(B), 1(D), 1(C), 1(B), 1(A), 1(B), 1(D), 1(B), 3(A), 2(D), 2(A), 1(D), 1(C), 1(A), 1(B), 
1(C), 2(A), 1(B), 2(D), 1(C), 1(B), 1(A), 1(B), 2(D), 1(B), 2(A), 1(D)

Row 57 (R): 1(D),2(A), 1(C), 1(D), 1(C), 1(D), 1(A), 1(B), 1(C), 2(D), 1(B), 2(A), 1(B), 1(D), 1(B), 
1(A), 3(C), 2(A), 1(D), 2(A), 1(B), 1(C), 1(B), 2(A), 1(C), 2(D), 1(B), 2(A), 1(B), 1(D), 1(C), 3(A), 
1(D), 1(B), 3(A), 1(D), 1(A), 2(D), 1(B), 2(A), 1(D)

Row 58 (L): 1(D), 2(A), 1(C), 2(D), 1(B), 1(C), 1(D), 1(B), 1(A), 1(B), 1(D), 2(C), 2(A), 2(D), 1(B), 
1(A), 1(B), 1(C), 2(D), 1(B), 1(A), 1(B), 1(D), 1(B), 2(A), 1(B), 2(C), 3(A), 1(C), 1(A), 1(B), 1(C), 
2(A), 1(B), 3(D), 1(B), 1(A), 1(B), 1(D), 1(A), 1(D), 2(A), 1(D)

Row 59 (R): 1(D),2(A), 1(D), 2(C), 1(D), 1(A), 1(B), 3(D), 1(B), 2(A), 1(B), 1(D), 1(B), 1(A), 1(C), 
1(A), 1(D), 2(A), 1(D), 2(A), 1(B), 1(D), 1(B), 1(A), 1(B), 1(C), 2(D), 1(C), 2(A), 1(B), 2(D), 2(A), 
1(C), 1(D), 1(B), 3(A), 1(D), 1(A), 1(B), 1(D), 1(B), 2(A), 1(D)

Row 60 (L): 1(D), 2(A), 1(C), 2(D), 1(A), 2(D), 1(B), 1(A), 1(B), 1(D), 2(B), 1(A), 1(C), 1(D), 2(B), 
1(A), 1(B), 3(D), 1(B), 2(A), 2(B), 2(A), 1(B), 3(A), 1(B), 1(A), 1(C), 1(A), 1(B), 1(C), 2(A), 1(B), 
3(D), 1(C), 1(A), 1(B), 1(D), 1(A), 1(D), 2(A), 1(D)



Row 61 (R): 1(D),2(A), 1(D), 1(A), 2(D), 1(A), 1(B), 3(D), 1(B), 2(A), 1(B), 1(D), 1(B), 1(A), 1(D), 
1(C), 1(D), 2(A), 1(C), 2(A), 1(B), 1(D), 1(B), 1(A), 1(B), 3(D), 1(C), 2(A), 1(B), 2(D), 1(C), 1(A), 
1(C), 1(D), 1(B), 3(A), 1(D), 1(B), 1(A), 1(D), 1(B), 2(A), 1(D)

Row 62 (L): 1(D), 2(A), 1(C), 1(D), 1(C), 1(A), 2(D), 1(B), 1(A), 1(B), 1(D), 1(C), 2(A), 2(D), 1(B), 
2(A), 1(B), 3(D), 1(B), 2(A), 2(B), 2(A), 1(B), 1(D), 1(A), 1(C), 1(D), 2(C), 1(A), 1(B), 1(C), 2(A), 
1(B), 4(D), 1(A), 1(B), 1(D), 1(A), 1(C), 2(A), 1(D)

Row 63 (R): 1(D),2(A), 1(D), 1(A), 2(D), 1(A), 1(C), 3(D), 1(B), 2(A), 1(B), 1(D), 1(B), 1(A), 3(D), 
2(C), 1(B), 2(A), 1(B), 1(C), 2(A), 1(B), 3(D), 1(C), 1(B), 2(A), 1(B), 2(D), 2(A), 1(D), 1(B), 3(A), 
2(D), 1(A), 1(D), 1(B), 2(A), 1(D)

Row 64 (L): 1(D), 2(A), 1(C), 1(D), 2(A), 2(D), 1(B), 1(A), 1(B), 1(D), 1(C), 1(A), 1(B), 2(D), 1(B), 
2(A), 1(C), 3(D), 1(C), 2(A), 1(B), 1(D), 1(B), 1(A), 1(B), 1(D), 1(C), 3(D), 1(B), 1(A), 2(C), 2(A), 
1(B), 4(D), 1(A), 1(B), 1(D), 1(A), 1(B), 2(A), 1(D)

Row 65 (R): 1(D),2(A), 1(D), 1(A), 2(D), 1(A), 2(D), 1(C), 1(D), 1(B), 2(A), 1(B), 1(D), 1(B), 1(A), 
5(D), 1(B), 2(A), 2(B), 2(A), 1(B), 4(D), 1(B), 2(A), 1(B), 2(D), 1(B), 1(A), 1(D), 1(B), 3(A), 2(D), 
1(A), 2(B), 2(A), 1(D)

Row 66 (L): 1(D), 2(A), 1(C), 1(D), 2(A), 2(D), 1(B), 1(A), 1(B), 1(D), 2(A), 3(D), 1(B), 2(A), 1(C), 
3(D), 1(C), 2(A), 1(B), 1(D), 1(B), 1(A), 1(B), 1(C), 4(D), 2(A), 1(D), 1(C), 2(A), 1(B), 1(D), 2(C), 
1(D), 2(B), 1(D), 1(A), 1(B), 2(A), 1(D)

Row 67 (R): 1(D),2(A), 1(D), 1(A), 1(C), 3(D), 2(A), 1(D), 1(B), 2(A), 1(B), 1(C), 1(B), 1(A), 1(C), 
4(D), 1(B), 2(A), 2(B), 2(A), 1(B), 4(D), 1(B), 2(A), 1(B), 3(D), 1(A), 2(B), 3(A), 2(D), 2(A), 1(B), 
2(A), 1(D)

Row 68 (L): 1(D), 2(A), 1(C), 1(D), 1(A), 1(B), 2(D), 1(B), 1(A), 1(B), 1(D), 2(A), 3(D), 1(B), 2(A), 
1(C), 3(D), 1(C), 3(A), 1(C), 1(B), 2(A), 1(C), 4(D), 1(A), 1(B), 1(D), 1(C), 2(A), 1(B), 1(D), 2(A), 
2(D), 1(C), 1(D), 1(A), 1(B), 2(A), 1(D)

Row 69 (R): 1(D),2(A), 1(D), 1(A), 1(C), 3(D), 1(A), 1(D), 2(B), 2(A), 1(B), 1(A), 1(C), 1(A), 1(B), 
4(D), 1(B), 1(A), 1(B), 1(D), 1(B), 2(A), 1(B), 4(D), 1(B), 2(A), 1(B), 3(D), 2(A), 1(B), 3(A), 1(C), 
1(D), 2(A), 1(B), 2(A), 1(D)

Row 70 (L): 1(D), 2(A), 1(C), 1(D), 1(A), 1(C), 2(D), 1(B), 1(A), 1(B), 1(C), 1(A), 3(D), 2(B), 2(A), 
1(C), 3(D), 1(C), 3(A), 2(B), 2(A), 1(B), 4(D), 1(A), 2(B), 3(A), 1(B), 1(D), 1(B), 2(A), 3(D), 1(A), 
1(B), 2(A), 1(D)

Row 71 (R): 1(D),2(A), 1(D), 1(A), 1(C), 3(D), 1(A), 1(D), 2(B), 2(A), 2(B), 1(C), 1(B), 1(A), 3(D), 
1(C), 2(A), 1(B), 1(D), 1(B), 2(A), 1(B), 4(D), 1(B), 2(A), 1(B), 4(D), 1(A), 1(C), 4(A), 1(C), 2(A), 
1(C), 2(A), 1(D)

Row 72 (L): 1(D), 2(A), 1(C), 1(D), 1(A), 1(C), 1(A), 1(D), 1(B), 1(A), 1(B), 2(A), 3(D), 1(B), 3(A), 
1(C), 3(D), 1(C), 3(A), 2(B), 2(A), 1(B), 4(D), 1(A), 1(B), 1(A), 1(C), 2(A), 1(B), 1(A), 1(D), 1(C), 
1(A), 3(D), 1(A), 1(C), 2(A), 1(D)

Row 73 (R): 1(D),2(A), 1(D), 1(A), 1(B), 3(D), 1(A), 1(C), 1(B), 3(A), 2(B), 1(C), 1(B), 1(A), 3(D), 



1(B), 2(A), 1(B), 1(D), 1(B), 2(A), 1(B), 4(D), 1(B), 2(A), 1(B), 4(D), 5(A), 1(C), 3(A), 1(D), 2(A), 
1(D)

Row 74 (L): 1(D), 1(B), 1(A), 1(B), 1(D), 1(A), 1(C), 1(A), 1(D), 1(B), 1(A), 1(C), 1(A), 4(D), 1(B), 
3(A), 1(C), 3(D), 1(C), 3(A), 1(B), 1(C), 1(B), 1(A), 1(B), 3(D), 1(C), 1(A), 1(B), 1(A), 1(D), 2(A), 
2(B), 1(A), 1(B), 1(A), 3(D), 1(A), 1(C), 2(A), 1(D)

Row 75 (R): 1(D),1(B), 1(A), 1(D), 1(B), 1(A), 3(D), 2(A), 5(B), 1(A), 1(C), 1(B), 1(A), 3(D), 1(B), 
2(A), 1(B), 1(D), 1(B), 2(A), 1(B), 4(D), 1(B), 2(A), 1(B), 5(D), 1(A), 1(C), 2(A), 1(D), 3(A), 1(D), 
2(A), 1(D)

Row 76 (L): 1(D), 1(B), 1(A), 1(B), 1(D), 1(A), 1(C), 1(A), 1(D), 1(B), 1(C), 2(A), 4(D), 1(B), 3(A), 
1(C), 3(D), 1(C), 3(A), 1(B), 1(D), 1(B), 1(A), 1(B), 1(C), 2(D), 2(A), 1(C), 2(A), 2(B), 5(A), 3(D), 
1(A), 1(D), 2(A), 1(D)

Row 77 (R): 1(D),1(B), 1(A), 1(B), 1(C), 1(A), 3(D), 1(B), 1(A), 3(B), 3(A), 1(D), 1(B), 1(A), 1(C), 
2(D), 1(B), 2(A), 1(B), 1(D), 1(B), 2(A), 1(B), 4(D), 1(B), 2(A), 1(B), 5(D), 1(B), 1(A), 1(C), 1(B), 
1(C), 3(A), 1(D), 2(A), 1(D)

Row 78 (L): 1(D), 1(C), 2(A), 1(D), 1(A), 1(C), 1(A), 1(D), 1(C), 1(B), 1(A), 5(D), 1(B), 3(A), 1(C), 
3(D), 1(C), 3(A), 1(B), 1(D), 1(B), 2(A), 1(C), 2(D), 1(A), 1(B), 1(D), 1(B), 2(A), 4(B), 1(A), 1(C), 
2(D), 1(C), 1(A), 1(D), 2(A), 1(D)

Row 79 (R): 1(D),1(C), 2(A), 1(D), 1(A), 3(D), 4(B), 1(A), 2(B), 1(C), 1(D), 1(C), 1(A), 1(B), 2(D), 
1(B), 1(A), 1(B), 2(D), 1(B), 2(A), 1(B), 4(D), 1(B), 2(A), 1(B), 5(D), 1(C), 2(A), 1(B), 4(A), 1(D), 
2(A), 1(D)

Row 80 (L): 1(D), 1(C), 2(A), 1(D), 1(A), 1(D), 4(A), 1(C), 5(D), 1(B), 3(A), 1(C), 3(D), 1(C), 3(A), 
1(B), 1(D), 1(B), 2(A), 1(C), 2(D), 1(A), 1(B), 2(D), 1(C), 1(B), 1(A), 1(B), 1(D), 2(B), 1(C), 2(D), 
2(B), 1(D), 2(A), 1(D)

Row 81 (R): 1(D),1(C), 2(A), 1(D), 1(A), 6(D), 1(B), 2(A), 1(B), 3(D), 1(B), 1(A), 1(D), 1(C), 1(B), 
1(A), 1(B), 2(D), 1(B), 2(A), 1(B), 4(D), 1(B), 2(A), 1(B), 1(D), 1(C), 3(D), 1(B), 1(C), 3(A), 1(C), 
2(A), 1(C), 2(A), 1(D)

Row 82 (L): 2(D), 2(A), 1(D), 1(A), 1(C), 3(A), 1(B), 1(C), 3(D), 1(C), 1(D), 1(B), 3(A), 1(C), 3(D), 
1(C), 3(A), 1(B), 1(D), 1(B), 2(A), 1(B), 2(D), 1(A), 1(B), 3(D), 2(A), 1(B), 6(D), 1(A), 2(D), 2(A), 
1(D)

Row 83 (R): 2(D),2(A), 1(D), 1(C), 1(B), 5(D), 1(B), 2(A), 1(B), 3(D), 1(B), 1(A), 1(D), 1(C), 2(A), 
1(B), 2(D), 1(B), 2(A), 1(B), 4(D), 1(B), 2(A), 1(B), 1(C), 1(B), 1(A), 2(D), 1(B), 1(A), 1(C), 1(B), 
1(C), 1(D), 1(A), 2(C), 2(A), 1(D)

Row 84 (L): 2(D), 2(A), 1(D), 1(A), 1(C), 1(D), 1(B), 2(C), 1(B), 2(D), 1(A), 3(B), 3(A), 1(C), 3(D), 
1(C), 3(A), 1(B), 1(D), 1(B), 2(A), 1(B), 1(D), 1(C), 1(A), 1(B), 3(D), 2(A), 1(B), 6(D), 1(A), 1(D), 
1(C), 2(A), 1(D)

Row 85 (R): 2(D),2(A), 2(D), 1(A), 5(D), 1(B), 2(A), 1(B), 3(D), 1(B), 1(A), 1(D), 1(B), 2(A), 1(B), 
2(D), 1(B), 2(A), 1(B), 4(D), 1(B), 2(A), 2(B), 1(A), 1(C), 1(A), 1(D), 1(B), 2(A), 1(B), 2(D), 1(A), 
1(D), 2(A), 1(B), 1(D)



Row 86 (L): 2(D), 2(A), 1(D), 1(A), 1(B), 2(D), 1(B), 1(A), 1(B), 2(D), 1(B), 1(A), 2(B), 3(A), 1(C), 
3(D), 1(C), 3(A), 1(B), 2(D), 1(B), 1(A), 1(B), 1(D), 1(B), 1(A), 1(C), 3(D), 2(A), 1(B), 5(D), 2(C), 
1(D), 1(B), 1(A), 1(B), 1(D)

Row 87 (R): 2(D),2(A), 5(D), 1(B), 2(D), 1(B), 2(A), 1(B), 3(D), 1(B), 1(A), 1(D), 1(B), 2(A), 1(B), 
2(D), 1(B), 2(A), 1(B), 4(D), 1(B), 2(A), 2(B), 1(A), 3(D), 1(B), 3(A), 2(D), 1(A), 1(D), 2(A), 1(C), 
1(D)

Row 88 (L): 2(D), 2(A), 1(D), 2(B), 2(D), 1(B), 1(A), 1(B), 1(D), 1(C), 2(D), 1(B), 1(C), 1(B), 2(A), 
1(C), 3(D), 1(C), 2(A), 2(B), 2(D), 1(B), 2(A), 1(C), 1(A), 1(B), 4(D), 2(A), 1(B), 2(D), 1(C), 1(B), 
4(D), 2(A), 1(C), 1(D)

Row 89 (R): 2(D),2(A), 1(C), 2(D), 1(C), 1(A), 1(B), 2(D), 1(B), 2(A), 1(B), 3(D), 1(B), 1(A), 2(B), 
1(A), 1(B), 3(D), 1(B), 2(A), 1(B), 4(D), 1(B), 2(A), 1(C), 2(A), 3(D), 1(B), 3(A), 2(D), 1(A), 1(D), 
2(A), 2(D)

Row 90 (L): 2(D), 2(A), 1(C), 1(D), 1(A), 2(D), 1(B), 1(A), 1(B), 4(D), 1(A), 2(B), 2(A), 1(B), 3(D), 
1(B), 2(A), 1(B), 3(D), 1(B), 2(A), 1(C), 1(A), 1(B), 4(D), 2(A), 1(B), 3(D), 1(A), 1(B), 1(C), 2(D), 
2(A), 2(D)

Row 91 (R): 2(D),2(A), 1(B), 1(D), 1(C), 1(B), 1(A), 3(D), 1(B), 2(A), 1(B), 3(D), 1(C), 1(B), 1(A), 
1(B), 1(A), 1(B), 3(D), 1(C), 2(A), 1(B), 3(D), 1(B), 2(A), 2(B), 2(A), 3(D), 1(B), 3(A), 1(D), 2(C), 
1(D), 2(A), 2(D)

Row 92 (L): 2(D), 2(A), 1(B), 1(D), 1(A), 2(D), 1(B), 1(A), 1(B), 4(D), 1(A), 2(B), 2(A), 1(B), 3(D), 
1(B), 2(A), 1(B), 3(D), 1(B), 2(A), 1(B), 1(A), 1(B), 4(D), 2(A), 1(B), 3(D), 1(B), 1(A), 1(B), 2(D), 
2(A), 2(D)

Row 93 (R): 2(D),1(B), 2(A), 1(D), 1(B), 2(A), 3(D), 1(B), 2(A), 1(B), 4(D), 1(B), 3(A), 1(B), 4(D), 
1(B), 1(A), 2(B), 2(D), 1(B), 2(A), 2(B), 2(A), 3(D), 1(B), 3(A), 1(D), 1(A), 2(D), 2(A), 2(D)

Row 94 (L): 2(D), 1(C), 2(A), 1(D), 1(B), 2(D), 1(B), 1(A), 1(B), 4(D), 1(A), 1(B), 1(C), 2(A), 1(B), 
3(D), 1(B), 2(A), 1(B), 3(D), 1(B), 2(A), 1(B), 1(A), 1(B), 4(D), 2(A), 1(B), 3(D), 1(C), 1(A), 1(B), 
2(D), 2(A), 2(D)

Row 95 (R): 3(D),2(A), 1(D), 1(B), 2(A), 3(D), 1(B), 2(A), 1(B), 4(D), 1(B), 3(A), 1(B), 4(D), 1(B), 
2(A), 1(B), 2(D), 1(B), 2(A), 2(B), 2(A), 3(D), 1(B), 3(A), 1(D), 1(A), 1(D), 1(C), 2(A), 2(D)

Row 96 (L): 3(D), 2(A), 2(D), 1(C), 1(D), 1(B), 1(A), 1(B), 3(D), 1(C), 1(A), 1(B), 1(D), 1(B), 1(A), 
1(B), 3(D), 1(B), 1(A), 1(B), 1(C), 4(D), 1(B), 1(A), 1(B), 1(A), 1(C), 4(D), 2(A), 1(B), 3(D), 1(C), 
1(A), 1(B), 1(D), 1(C), 2(A), 2(D)

Row 97 (R): 3(D),2(A), 1(D), 1(B), 2(A), 1(B), 2(D), 1(B), 2(A), 1(B), 4(D), 1(B), 3(A), 1(B), 4(D), 
1(B), 2(A), 1(B), 2(D), 1(B), 1(A), 1(B), 1(C), 1(B), 2(A), 1(C), 3(B), 2(A), 1(B), 3(D), 2(A), 1(B), 
2(D)

Row 98 (L): 3(D), 2(A), 2(D), 1(A), 1(D), 1(B), 1(A), 4(B), 2(A), 1(B), 1(D), 1(B), 2(A), 1(B), 1(D), 
2(B), 1(A), 1(B), 5(D), 1(B), 2(A), 1(B), 5(D), 2(A), 1(B), 2(D), 1(C), 1(B), 1(A), 1(B), 1(D), 1(B), 
1(A), 1(B), 2(D)



Row 99 (R): 3(D),2(A), 1(C), 1(D), 1(B), 1(A), 4(B), 2(A), 1(B), 4(D), 1(B), 3(A), 1(C), 5(D), 1(B), 
1(A), 1(B), 2(C), 1(B), 1(A), 1(B), 1(D), 1(C), 1(B), 2(A), 2(B), 3(A), 1(C), 1(B), 2(D), 2(A), 1(C), 
2(D)

Row 100 (L): 3(D), 2(A), 1(C), 2(D), 1(C), 3(A), 3(B), 2(A), 1(B), 1(D), 1(C), 1(B), 1(A), 1(B), 
1(C), 1(B), 2(A), 1(B), 5(D), 1(B), 2(A), 1(B), 4(D), 1(C), 2(A), 4(B), 2(A), 1(B), 1(D), 2(A), 1(C), 
2(D)

Row 101 (R): 3(D),2(A), 1(B), 1(D), 1(B), 7(A), 1(B), 5(D), 1(B), 1(A), 1(B), 4(D), 1(C), 1(D), 
1(B), 2(A), 2(B), 1(A), 1(B), 1(C), 2(D), 1(B), 8(A), 1(C), 2(D), 2(A), 3(D)

Row 102 (L): 3(D), 3(A), 2(D), 1(B), 8(A), 1(B), 2(D), 1(B), 1(A), 3(B), 1(A), 1(B), 1(D), 1(C), 
4(D), 1(B), 2(A), 1(B), 4(D), 1(C), 7(A), 1(B), 1(C), 1(D), 2(A), 3(D)

Row 103 (R): 3(D),1(C), 2(A), 1(D), 1(C), 1(B), 6(A), 1(B), 1(C), 4(D), 1(B), 1(A), 1(B), 4(D), 
1(A), 1(C), 1(D), 1(B), 4(A), 1(B), 3(D), 1(B), 8(A), 1(C), 1(D), 1(C), 2(A), 3(D)

Row 104 (L): 3(D), 1(C), 2(A), 2(D), 1(B), 7(A), 1(B), 1(C), 2(D), 1(C), 1(B), 4(A), 1(B), 1(D), 
1(A), 1(C), 4(D), 2(A), 1(B), 4(D), 1(B), 7(A), 1(B), 1(D), 1(C), 2(A), 3(D)

Row 105 (R): 4(D),2(A), 2(D), 1(C), 8(B), 4(D), 3(B), 3(D), 1(C), 2(A), 1(D), 1(C), 1(B), 2(A), 
1(B), 4(D), 1(C), 8(B), 1(C), 1(D), 3(A), 3(D)

Row 106 (L): 4(D), 2(A), 2(D), 9(B), 4(D), 1(C), 3(A), 1(B), 1(D), 1(C), 2(A), 4(D), 2(B), 4(D), 
1(C), 8(B), 2(D), 1(B), 2(A), 3(D)

Row 107 (R): 4(D),2(A), 1(C), 19(D), 1(C), 3(A), 1(C), 20(D), 2(A), 1(C), 3(D)

Row 108 (L): 4(D), 2(A), 1(C), 20(D), 3(A), 2(C), 19(D), 2(A), 1(C), 3(D)

Row 109 (R): 4(D),1(B), 2(A), 2(D), 4(C), 5(D), 1(C), 6(B), 1(D), 1(B), 4(A), 2(D), 6(B), 1(C), 
4(D), 5(C), 2(D), 2(A), 4(D)

Row 110 (L): 4(D), 1(B), 2(A), 2(D), 4(C), 5(D), 7(B), 1(D), 1(B), 4(A), 1(C), 1(D), 6(B), 5(D), 
4(C), 3(D), 2(A), 4(D)

Row 111 (R): 5(D),2(A), 1(C), 1(D), 2(B), 3(A), 1(B), 2(D), 2(C), 5(A), 1(C), 1(B), 6(A), 1(D), 
1(B), 5(A), 2(C), 1(D), 1(C), 3(A), 3(B), 1(D), 1(B), 2(A), 4(D)

Row 112 (L): 5(D), 2(A), 2(D), 2(B), 3(A), 1(B), 2(D), 7(A), 1(C), 1(B), 6(A), 2(B), 6(A), 2(D), 
1(C), 3(A), 3(B), 1(D), 1(B), 2(A), 4(D)

Row 113 (R): 5(D),2(A), 1(C), 1(D), 1(B), 2(D), 1(C), 3(A), 2(C), 5(A), 1(C), 1(B), 4(A), 1(C), 
3(A), 1(D), 6(A), 1(D), 1(B), 2(A), 1(B), 3(D), 1(B), 1(C), 2(A), 1(C), 4(D)

Row 114 (L): 5(D), 2(A), 1(C), 1(D), 1(B), 2(D), 1(C), 3(A), 1(D), 1(B), 5(A), 1(C), 1(B), 4(A), 
1(C), 3(A), 1(D), 5(A), 1(B), 1(D), 1(B), 3(A), 3(D), 1(B), 1(C), 2(A), 1(C), 4(D)

Row 115 (R): 5(D),1(B), 2(A), 1(C), 1(B), 1(C), 2(D), 1(C), 3(A), 1(D), 1(C), 1(B), 1(C), 1(A), 



1(B), 1(C), 3(A), 1(C), 2(A), 1(C), 3(A), 1(D), 1(A), 3(B), 1(D), 1(C), 2(A), 1(B), 3(D), 1(A), 1(D), 
1(C), 2(A), 5(D)

Row 116 (L): 5(D), 1(B), 2(A), 1(C), 1(B), 1(C), 3(D), 3(A), 1(D), 1(C), 1(A), 1(C), 2(A), 1(C), 
3(A), 1(C), 2(A), 1(C), 3(A), 1(D), 2(A), 2(B), 1(D), 1(B), 2(A), 1(B), 3(D), 1(A), 1(D), 1(C), 2(A), 
5(D)

Row 117 (R): 6(D),2(A), 1(C), 1(D), 1(A), 3(D), 1(C), 3(A), 2(D), 1(B), 1(A), 1(D), 3(A), 1(D), 
3(A), 2(C), 2(A), 1(C), 2(A), 2(D), 1(C), 2(A), 1(B), 3(D), 1(B), 1(A), 1(C), 3(A), 5(D)

Row 118 (L): 6(D), 2(A), 1(C), 1(D), 1(A), 4(D), 3(A), 2(D), 1(C), 1(A), 1(D), 3(A), 1(D), 3(A), 
2(C), 2(A), 1(C), 1(B), 1(A), 2(D), 1(C), 3(A), 3(D), 1(B), 1(A), 1(C), 1(B), 2(A), 5(D)

Row 119 (R): 6(D),2(A), 1(C), 1(D), 2(A), 1(C), 2(D), 1(C), 2(A), 2(D), 2(A), 1(C), 1(A), 1(B), 
1(D), 2(C), 3(A), 1(D), 1(C), 2(A), 1(C), 1(A), 2(D), 3(A), 3(D), 1(B), 1(A), 1(D), 1(C), 2(A), 1(C), 
5(D)

Row 120 (L): 6(D), 2(A), 1(B), 1(C), 2(A), 3(D), 1(C), 2(A), 1(C), 1(D), 2(A), 1(C), 2(A), 1(D), 
2(C), 3(A), 1(D), 1(C), 2(A), 1(D), 1(A), 2(D), 3(A), 3(D), 1(B), 1(A), 1(D), 1(B), 2(A), 1(C), 5(D)

Row 121 (R): 6(D),1(C), 2(A), 1(B), 1(D), 2(A), 1(C), 2(D), 3(A), 1(D), 1(A), 1(C), 2(A), 2(D), 
1(C), 1(D), 1(A), 1(B), 1(C), 2(D), 1(B), 1(A), 1(D), 1(A), 2(C), 2(A), 3(D), 1(B), 1(A), 1(B), 2(C), 
2(A), 6(D)

Row 122 (L): 6(D), 1(C), 2(A), 1(C), 1(D), 2(A), 1(C), 2(D), 1(B), 2(A), 1(D), 1(A), 2(B), 1(A), 
2(D), 1(C), 1(D), 2(A), 1(C), 2(D), 1(C), 1(A), 1(D), 1(A), 2(D), 2(A), 3(D), 1(B), 2(A), 1(D), 1(C), 
2(A), 6(D)

Row 123 (R): 7(D),2(A), 1(C), 1(D), 1(B), 2(A), 1(C), 2(D), 2(A), 1(D), 1(B), 1(D), 1(A), 1(C), 
4(D), 1(A), 1(B), 4(D), 1(A), 1(C), 1(A), 1(D), 2(A), 1(C), 2(D), 1(B), 2(A), 1(D), 1(B), 2(A), 1(B), 
6(D)

Row 124 (L): 7(D), 2(A), 2(C), 1(B), 2(A), 1(C), 2(D), 2(A), 1(D), 1(A), 1(C), 1(A), 1(C), 4(D), 
1(A), 1(B), 4(D), 1(A), 1(C), 1(A), 1(D), 1(B), 1(A), 1(B), 2(D), 3(A), 1(D), 1(B), 2(A), 1(B), 6(D)

Row 125 (R): 7(D),3(A), 1(B), 1(D), 3(A), 1(C), 1(D), 1(B), 1(A), 2(C), 1(D), 1(A), 5(D), 1(A), 
1(C), 4(D), 2(B), 1(A), 1(D), 2(A), 2(D), 3(A), 3(C), 2(A), 7(D)

Row 126 (L): 7(D), 1(B), 2(A), 1(B), 1(D), 3(A), 1(C), 1(D), 1(C), 1(A), 1(B), 1(C), 1(D), 1(A), 
5(D), 1(A), 1(C), 4(D), 1(B), 2(A), 1(D), 2(A), 2(D), 3(A), 1(B), 1(D), 1(C), 2(A), 7(D)

Row 127 (R): 8(D),2(A), 3(C), 3(A), 2(D), 2(A), 2(D), 1(A), 2(D), 1(C), 2(D), 1(A), 2(D), 2(C), 
1(D), 1(C), 1(A), 2(C), 1(A), 1(C), 1(D), 1(B), 3(A), 1(D), 1(B), 3(A), 7(D)

Row 128 (L): 8(D), 2(A), 3(C), 3(A), 1(C), 1(D), 2(A), 2(D), 1(A), 2(D), 1(C), 2(D), 1(A), 2(D), 
2(C), 1(D), 1(C), 1(A), 2(D), 2(A), 1(D), 1(B), 3(A), 1(D), 1(B), 3(A), 7(D)

Row 129 (R): 8(D),4(A), 1(D), 4(A), 1(D), 2(A), 1(D), 1(C), 1(A), 1(D), 3(A), 1(D), 1(A), 1(D), 
1(C), 2(A), 2(D), 1(A), 1(D), 1(B), 1(A), 1(D), 1(C), 3(A), 1(D), 1(B), 1(C), 2(A), 8(D)



Row 130 (L): 8(D), 3(A), 1(B), 1(D), 1(B), 3(A), 1(D), 1(B), 1(A), 2(D), 1(A), 1(D), 1(B), 2(A), 
1(D), 1(A), 1(D), 1(C), 1(A), 1(B), 2(D), 1(A), 1(D), 1(C), 1(A), 1(D), 1(C), 3(A), 1(D), 2(C), 2(A), 
8(D)

Row 131 (R): 8(D),1(C), 2(A), 1(C), 1(B), 1(D), 4(A), 1(C), 1(A), 1(D), 1(C), 1(A), 3(D), 1(A), 
1(D), 1(A), 1(D), 2(A), 1(D), 1(C), 1(D), 1(A), 1(D), 2(A), 1(D), 3(A), 1(C), 1(D), 1(B), 3(A), 8(D)

Row 132 (L): 9(D), 2(A), 1(C), 1(B), 1(D), 4(A), 1(D), 1(A), 2(D), 1(A), 3(D), 1(A), 1(D), 1(A), 
1(D), 2(A), 1(D), 1(C), 1(D), 1(A), 1(D), 2(A), 1(D), 3(A), 1(B), 1(D), 4(A), 8(D)

Row 133 (R): 9(D),3(A), 1(B), 1(D), 1(C), 3(A), 1(C), 1(A), 2(C), 1(A), 3(D), 1(A), 1(C), 1(A), 
1(D), 1(A), 1(C), 3(D), 1(A), 1(D), 1(A), 1(D), 3(A), 1(C), 1(D), 1(A), 1(B), 2(A), 9(D)

Row 134 (L): 9(D), 3(A), 2(C), 1(D), 3(A), 1(C), 1(A), 1(C), 1(D), 1(A), 3(D), 1(A), 1(B), 1(A), 
1(D), 1(A), 1(C), 3(D), 1(A), 1(D), 1(A), 1(C), 4(A), 1(D), 1(B), 1(C), 2(A), 1(C), 8(D)

Row 135 (R): 9(D),1(C), 2(A), 1(C), 1(A), 1(D), 1(C), 3(A), 2(B), 1(D), 1(A), 3(D), 1(A), 1(B), 
1(A), 1(D), 1(A), 1(C), 2(D), 1(C), 1(A), 1(D), 1(A), 1(C), 2(A), 1(B), 1(D), 2(C), 3(A), 9(D)

Row 136 (L): 10(D), 2(A), 1(B), 1(A), 2(D), 3(A), 1(C), 1(A), 1(D), 1(A), 3(D), 3(A), 1(D), 1(A), 
1(C), 2(D), 1(C), 1(A), 1(D), 1(A), 1(C), 3(A), 1(D), 1(C), 1(B), 3(A), 9(D)

Row 137 (R): 10(D),3(A), 1(C), 1(B), 1(D), 1(B), 2(A), 1(B), 1(A), 1(D), 1(A), 3(D), 1(A), 1(B), 
1(A), 1(D), 2(A), 2(D), 1(A), 2(C), 1(B), 3(A), 1(D), 1(C), 4(A), 10(D)

Row 138 (L): 10(D), 1(B), 2(A), 1(C), 1(A), 1(D), 1(C), 2(A), 1(B), 1(A), 1(D), 1(A), 1(C), 2(D), 
3(A), 1(D), 2(A), 2(D), 1(A), 1(B), 1(C), 4(A), 2(D), 1(A), 1(B), 2(A), 1(C), 9(D)

Row 139 (R): 11(D),4(A), 1(C), 1(D), 4(A), 1(D), 2(A), 1(C), 2(A), 1(C), 1(A), 1(D), 2(A), 1(C), 
1(B), 1(A), 1(D), 1(A), 1(B), 2(A), 2(D), 1(A), 1(C), 2(A), 1(B), 10(D)

Row 140 (L): 11(D), 3(A), 2(B), 1(D), 1(C), 3(A), 1(D), 2(A), 1(C), 2(A), 1(B), 1(A), 1(D), 2(A), 
2(B), 1(A), 1(C), 4(A), 1(C), 1(D), 1(A), 1(C), 3(A), 10(D)

Row 141 (R): 11(D),3(A), 1(C), 1(A), 1(C), 1(D), 3(A), 1(C), 1(B), 4(A), 1(D), 1(A), 1(D), 5(A), 
1(D), 3(A), 2(D), 1(A), 1(C), 3(A), 11(D)

Row 142 (L): 11(D), 1(B), 2(A), 1(C), 1(A), 1(C), 1(D), 1(B), 2(A), 1(B), 1(C), 4(A), 1(D), 1(A), 
1(D), 5(A), 1(D), 3(A), 1(C), 1(D), 1(A), 1(B), 3(A), 11(D)

Row 143 (R): 12(D),3(A), 1(C), 1(A), 2(D), 3(A), 1(D), 4(A), 1(D), 1(A), 2(C), 3(A), 2(C), 2(A), 
1(C), 1(D), 2(A), 1(B), 2(A), 1(C), 11(D)

Row 144 (L): 12(D), 3(A), 1(C), 1(A), 1(C), 1(D), 3(A), 1(D), 4(A), 1(D), 1(A), 2(C), 3(A), 1(C), 
1(D), 2(A), 1(B), 1(D), 1(B), 1(A), 1(C), 2(A), 1(B), 11(D)

Row 145 (R): 12(D),1(C), 2(A), 2(B), 1(A), 2(D), 2(A), 2(D), 2(B), 2(D), 1(A), 1(B), 1(D), 1(C), 
1(A), 1(C), 1(D), 2(A), 1(B), 1(D), 1(B), 1(A), 1(D), 3(A), 12(D)

Row 146 (L): 12(D), 1(C), 3(A), 1(B), 1(A), 2(D), 2(A), 2(D), 2(B), 2(D), 2(A), 1(D), 1(C), 1(B), 



1(C), 1(D), 1(B), 2(A), 1(D), 1(C), 1(A), 1(D), 3(A), 12(D)

Row 147 (R): 13(D),3(A), 1(C), 2(A), 1(D), 1(C), 1(A), 1(C), 4(D), 1(C), 2(A), 5(D), 2(A), 1(D), 
1(C), 1(A), 1(C), 3(A), 13(D)

Row 148 (L): 13(D), 3(A), 1(C), 2(A), 1(D), 1(C), 2(A), 5(D), 2(A), 5(D), 2(A), 1(D), 1(C), 1(A), 
1(C), 3(A), 1(C), 12(D)

Row 149 (R): 14(D),3(A), 1(D), 1(A), 1(B), 1(D), 2(A), 4(D), 3(A), 1(C), 3(D), 1(B), 1(A), 1(C), 
1(D), 1(A), 2(B), 2(A), 1(B), 13(D)

Row 150 (L): 14(D), 3(A), 1(D), 1(A), 1(B), 1(D), 2(A), 1(D), 1(C), 2(D), 1(B), 2(A), 3(D), 2(C), 
1(A), 1(C), 1(D), 1(A), 2(C), 2(A), 1(B), 13(D)

Row 151 (R): 14(D),1(C), 2(A), 1(B), 1(C), 1(A), 1(C), 1(D), 1(A), 1(D), 1(B), 2(D), 3(A), 1(B), 
1(D), 1(C), 1(D), 2(A), 1(D), 2(A), 1(D), 3(A), 14(D)

Row 152 (L): 14(D), 1(C), 3(A), 1(C), 1(A), 1(C), 1(D), 1(A), 2(C), 2(D), 3(A), 1(B), 3(D), 2(A), 
1(D), 1(A), 1(B), 1(D), 3(A), 14(D)

Row 153 (R): 15(D),3(A), 2(C), 1(A), 1(D), 1(A), 1(B), 1(C), 2(D), 3(A), 1(B), 1(D), 1(B), 1(D), 
1(A), 1(D), 1(B), 1(A), 1(D), 3(A), 15(D)

Row 154 (L): 15(D), 1(B), 2(A), 2(C), 1(A), 1(D), 2(A), 3(D), 3(A), 1(B), 1(D), 1(B), 1(D), 1(A), 
1(D), 1(C), 1(A), 1(D), 3(A), 1(C), 14(D)

Row 155 (R): 16(D),3(A), 1(D), 1(B), 1(C), 1(D), 1(A), 1(D), 1(C), 1(D), 2(A), 1(C), 1(B), 1(D), 
1(C), 1(B), 1(A), 1(D), 1(A), 1(C), 1(B), 2(A), 1(C), 15(D)

Row 156 (L): 16(D), 3(A), 1(D), 1(A), 1(B), 1(D), 1(A), 1(D), 1(B), 1(D), 2(A), 1(C), 1(B), 1(D), 
1(B), 1(C), 1(A), 1(D), 1(A), 1(D), 1(B), 2(A), 1(B), 15(D)

Row 157 (R): 16(D),1(C), 3(A), 1(D), 1(A), 1(D), 1(A), 1(C), 1(A), 1(D), 2(A), 1(C), 1(B), 1(C), 
1(D), 1(A), 1(D), 1(A), 2(C), 3(A), 16(D)

Row 158 (L): 16(D), 1(C), 3(A), 1(D), 1(A), 1(D), 1(A), 1(C), 1(A), 1(D), 2(A), 1(C), 1(B), 2(D), 
1(A), 1(D), 1(B), 1(C), 1(D), 3(A), 16(D)

Row 159 (R): 17(D),1(B), 2(A), 1(C), 1(D), 1(B), 1(D), 1(A), 1(C), 1(D), 1(C), 1(A), 1(C), 1(D), 
1(A), 1(D), 1(A), 1(D), 1(A), 1(D), 3(A), 17(D)

Row 160 (L): 17(D), 1(B), 2(A), 2(C), 1(A), 1(D), 1(A), 1(C), 1(D), 1(C), 1(A), 2(C), 1(A), 1(D), 
1(A), 1(D), 1(A), 1(D), 3(A), 17(D)

Row 161 (R): 18(D),3(A), 1(D), 1(B), 1(D), 1(A), 1(D), 1(C), 1(D), 1(A), 1(C), 1(D), 2(B), 1(C), 
1(A), 1(D), 1(B), 2(A), 1(C), 17(D)

Row 162 (L): 18(D), 3(A), 1(D), 1(B), 1(D), 1(A), 1(D), 1(C), 1(D), 1(A), 1(C), 1(D), 2(B), 1(C), 
1(A), 1(D), 1(B), 2(A), 1(C), 17(D)



Row 163 (R): 19(D),3(A), 1(D), 1(A), 2(C), 1(A), 1(D), 1(A), 1(C), 1(D), 1(C), 1(A), 1(D), 2(C), 
2(A), 1(B), 18(D)

Row 164 (L): 19(D), 3(A), 1(D), 1(A), 2(C), 1(A), 1(D), 1(A), 1(C), 2(D), 1(A), 1(D), 2(C), 2(A), 
1(B), 18(D)

Row 165 (R): 19(D),1(C), 2(A), 2(C), 1(D), 1(A), 1(C), 1(D), 1(A), 1(D), 1(B), 1(D), 2(B), 1(D), 
3(A), 19(D)

Row 166 (L): 19(D), 1(C), 2(A), 1(B), 1(C), 1(D), 1(A), 1(B), 1(D), 1(A), 1(C), 1(B), 1(D), 2(B), 
1(D), 3(A), 19(D)

Row 167 (R): 20(D),3(A), 1(D), 1(B), 1(A), 1(D), 1(C), 1(A), 1(D), 1(A), 1(C), 2(D), 3(A), 20(D)

Row 168 (L): 20(D), 1(B), 2(A), 1(D), 1(B), 1(A), 1(D), 1(C), 1(A), 1(D), 1(A), 1(C), 2(D), 1(B), 
2(A), 20(D)

Row 169 (R): 21(D),3(A), 1(D), 1(C), 1(D), 2(B), 1(D), 1(B), 1(A), 2(C), 2(A), 1(C), 20(D)

Row 170 (L): 21(D), 3(A), 1(D), 1(C), 1(D), 1(B), 1(C), 1(D), 1(C), 1(A), 1(C), 1(D), 2(A), 1(C), 
20(D)

Row 171 (R): 21(D),1(C), 2(A), 3(C), 1(A), 2(C), 1(D), 1(B), 1(D), 2(A), 1(B), 21(D)

Row 172 (L): 22(D), 2(A), 3(C), 1(A), 1(D), 1(C), 1(D), 1(B), 1(D), 3(A), 21(D)

Row 173 (R): 22(D),1(B), 2(A), 1(D), 1(A), 1(B), 1(D), 1(B), 2(D), 1(C), 2(A), 22(D)

Row 174 (L): 22(D), 1(C), 2(A), 1(D), 1(A), 1(B), 1(D), 1(B), 2(D), 1(C), 2(A), 22(D)

Row 175 (R): 23(D),2(A), 2(C), 2(D), 1(A), 1(B), 1(D), 2(A), 1(C), 22(D)

Row 176 (L): 23(D), 2(A), 2(C), 2(D), 1(A), 1(B), 1(D), 2(A), 1(C), 22(D)

Row 177 (R): 24(D),2(A), 2(D), 1(C), 2(B), 1(C), 1(A), 1(B), 23(D)

Row 178 (L): 24(D), 2(A), 2(D), 1(C), 2(B), 1(C), 2(A), 23(D)

Row 179 (R): 24(D),1(B), 1(A), 2(C), 1(B), 1(C), 1(D), 2(A), 24(D)

Row 180 (L): 24(D), 1(B), 1(A), 2(C), 1(B), 1(C), 1(D), 2(A), 24(D)

Row 181 (R): 25(D),2(A), 1(C), 1(A), 1(D), 1(C), 1(A), 1(C), 24(D)

Row 182 (L): 25(D), 2(A), 1(C), 1(A), 1(D), 1(C), 1(A), 1(C), 24(D)

Row 183 (R): 25(D),1(C), 1(A), 1(D), 1(B), 1(D), 2(A), 25(D)

Row 184 (L): 25(D), 1(C), 1(A), 1(D), 1(B), 1(D), 2(A), 25(D)



Row 185 (R): 26(D),1(A), 1(B), 1(C), 1(D), 1(A), 1(C), 25(D)

Row 186 (L): 26(D), 2(A), 1(C), 1(D), 1(A), 1(C), 25(D)

Row 187 (R): 26(D),1(C), 1(A), 1(D), 1(B), 1(A), 26(D)

Row 188 (L): 27(D), 1(A), 1(D), 1(C), 1(A), 26(D)

Row 189 (R): 27(D),1(A), 1(C), 1(A), 27(D)

Row 190 (L): 27(D), 1(A), 1(D), 1(A), 1(C), 26(D)

Row 191 (R): 27(D),1(C), 1(B), 1(A), 27(D)

Row 192 (L): 27(D), 1(C), 1(B), 1(A), 27(D)

Row 193 (R): 28(D),1(A), 1(C), 27(D)

Row 194 (L): 28(D), 1(A), 1(C), 27(D)

Row 195 (R): 28(D),1(B), 28(D)

Row 196 (L): 28(D), 1(A), 28(D)

Row 197 (R): 28(D),1(C), 28(D)

Row 198 (L): 28(D), 1(C), 28(D)

Row 199 (R): 57(D)

Row 200 (L): 57(D)

Row 201 (R): 57(D)

Row 202 (L): 57(D)






	
	
	
	
	
	
	
	
	



